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01.09.18 38,9
02.09.18 31,0

03.09.18 46,4
04.09.18 52,1 60 - 80 trés médiocre 3 10,0%
05.09.18 54,0 45-60 médiocre 13 43,3%
06.09.18 46,0 35-45 moyen 12 40,0%
VEN. | 07.09.18 37,2 25-35 assez bon 1 3,3%
08.09.18 40,9 20-25 bon 0 0,0%
09.09.18 38,8 10-20 tres bon 1 3,3%
LUN. | 10.09.18 54,7 0-10 excellent 0 0,0%

11.09.18 48,7 INDICE DE QUALITE NOMBRE

. % D'HEURES
12.09.18 56,3 D'HEURES
13.09.18 43,4
VEN. | 14.09.18 51,8

15.09.18 47,0

16.09.18 39,0 150-200 trés médiocre 0 0,0%

LUN. | 17.09.18 62,7 110-150 médiocre 2 0,3%
18.09.18 52,2 80-110 moyen 33 4,6%
19.09.18 48,2 60-80 assez bon 127 17,6%
20.09.18 50,3 45-60 bon 194 26,9%

VEN. | 21.09.18 41,8 25-45 trés bon 277 38,5%
22.09.18 38,6 0-25 excellent 87 12,1%
23.09.18 12,6
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2509.18 s 42 200180900
26.00.18 s w4 210018
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29.09.18 37,3 MOYENNE PROVISOIRE 2018:
30.09.18 42.2 (valeur limite européenne: 40 ug / m3)
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